P745/P765 Hardware Attachment

Assembly Instructions

PARTS LIST

1 ) ]
\&(2}() Knob \ (2x) Central

Back Plate
? | 4 Y VAN
CS(4) 64 Rail e

P745/P765 Hardware Attachment

Assembly Instructions

PARTS LIST

1 &
\&(ZX) Knob \ (2X) Central
Back Plate
l |
4 AL VALY
- (4%) 61" Rail — (2x) 8-32 x

//PROGRESSIVE FURNITURE \\

//PROGRESSIVE FURNITURE W\\
P745/P765 Hardware Attachment

Assembly Instructions

PARTS LIST

\&(ZX) Knob \ (2X) Central
Back Plate
| |
4 (A
\\&(4X) §) i'” Rail \ (2x) 8-32 x

(2x) 8-32 x
K\ 17/8" Bolt J/

//PROGRESSIVE FURNITURE ﬂ

\& 1 7/8" Bolt JJ

//PROGRESSIVE FURNITURE \\
P745/P765 Hardware Attachment

Assembly Instructions

PARTS LIST

k\ 178" Bolt ) )

1 ®
\&(2}() Knob \ (2X) Central
Back Plate
| |
4 N R
- (4x) 63" Rail — (2x) 8-32 x

\\ 1 7/8" Bolt //




Step 1

Insert (2x) 6 " Rails

into Hardware ends.

Note: Hardware Ends

are already attached to Doors.

Step 2

Attach Center Back plate piece
of hardware over rails with (1)

Knob and tighten using (4) (1x)
8-32 x 1" Bolt.

N

M

//PROGRESSIVE FURNITURE \\
P745/P765 Hardware Attachment

Assembly Instructions

Step 1

Insert (2x) 6 " Rails

into Hardware ends.

Note: Hardware Ends

are already attached to Doors.

Step 2

Attach Center Back plate piece
of hardware over rails with (1)
Knob and tighten using (4) (1x)
8-32 x 1" Bolt.

—/

Step 1

Insert (2x) 6 3" Rails

into Hardware ends.

Note: Hardware Ends

are already attached to Doors.

Step 2

Attach Center Back plate piece
of hardware over rails with (1)

Knob and tighten using (4) (1x)
8-32 x 1 2" Bolt.

//PROGRESSIVE FURNITURE \\
P745/P765 Hardware Attachment

Assembly Instructions

[ @]

L

//PROGRESSIVE FURNITURE \\

P745/P765 Hardware Attachment
Assembly Instructions

[ @]

>

—/

Step 1

Insert (2x) 6 " Rails

into Hardware ends.

Note: Hardware Ends

are already attached to Doors.

Step 2

Attach Center Back plate piece
of hardware over rails with (1)
Knob and tighten using (4) (1x)
8-32 x 12" Bolt.

>

//PROGRESSIVE FURNITURE \\
P745/P765 Hardware Attachment

Assembly Instructions

[ @]




	INSTRUCTIVO P745-P765 Herraje A rev1.pdf (p.1)
	INSTRUCTIVO P745-P765 Herraje B rev1.pdf (p.2)

